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LEAVING CERTIFICATE EXAMINATION, 1962.

MATHEMATICS—Algebra—Pass.

WEDNESDAY — 13th JUNE — Morning, 10 to 12.30,

All questions to be answered.

Mathematical Tables may be obtained from the Superintendent.
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Solve the equation &% (x —L4)2 = 9.
Solve the simultaneous equations
hr =y? + 8y + 16
Ty=a +y +1.
(25 marks.)

Show that (2 — 1) is a factor of z(r — o)z — 3) = (@ = 3) + Uz - 2)¢

H(z—ﬂam(m—Mamfmmmofwa—m‘+m+B,ﬂmtm
values of A and B and factorise the expression fully.

(25 marks.)

The first term of an arithmetical progression is 5 and the fourth term

39.

is 23, Find the common difference and the sum of the first fifty terms.

Pind the value of n so that the sum of the first n terms of the
arithmetical progression 7, 12, 17-.. exceeds the sum of the first
n terms of the arithmetical progression 6, 10, 14... Dby 210,

(30 marks.)

Express gﬁfﬁ;g‘ as a fraction having a rational denominator.
Show that 1 + ¥3 is a root of the eguation 22(3 —z) = 2,
What are the other roots of the equation?

(30 marks,)

Prove the formula for the sum to n terms of a geometrical progression.

Find the sum of the first five terms of a geometrical progression in
which the firat term is half the gecond term and the sum of the first
three terms is 56,

Show that the sum of the second five terms is 32 times the sum of the
first five terms.

(30 marks,)

If A= 1ogk!+§, B = 1ogk1-%- and C = logk2§ prove A + B = 2C,

If a® = 2 and logw o = +O4, find the value of z, correct to two
significant figures,

(30 marks.,)

the graph of y = (z — 4)? (z + 3), for values of x from — 3% to + 2%.

Use the graph to solve the equation (z - 1)2 (2 + 3) = 1.

For what range of values of = is (z — 1)*(= + 3) positive and decreasing?

(30 marks.)



